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Mohit.. 1 day ago

Thank-you Madam, for this Amazing Class session of today's.. J\, @

And

My answer for today's Homework is like-

1). Only | follows. ..
Read more

oy &R REPLY

Rahul Bhakat 8 hours ago
Homework -

D-36
A-29_
Read more

gy &R REPLY

debasish chakraborty 1 day ago

Homework :
1.0nly 1

2.

D-36..

Read more

ay &P REPLY

shubhangi mishra 57 minutes ago

H w ans. Syllogism - only 1 follow
Puzzle

D- 36

A-29

Read more

o on REPLY

Nadeem 1 day ago
$F Homework Answers 5

£ Syllogism©
&) Ans - Only 1 Follows

Read more

oL oRn REPLY

Sonam Pundir 4 hours ago

Hw. 1) only 1 follow
2). Box. Ball

D. 36

A 29 _

Read more

o on REPLY

Rahul Bhakat 8 hours ago

Homework
50) Only 1 following.

o on REPLY
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50) Statements:
Some Bus is Lorry
No Lorry is Van

Some Van is Car
No Car Is Auto

Conclusions:

1)Some Car being Lorry is a Possibility
[1)Some Lorry is Auto
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Nine boxes A, B, C, D, E, F, G, H, and | are k
TS A, B,C,D,EF G H MR ITH GRS above one another but not necessarily in the same

TR ATh = SI=3) T&t 8] | order, Each of the boxes have differént number of
@Wv & Hﬁ%?iﬂ%ﬁ balls i.e. 25, 28, 29, 32, 33, 36, 39, 42, and 45 and
0T | U STeRT H STeNT-3(eRT | AT | TG are not necessarily in the same order.

gl 25, 28, 29, 32, 33, 36, 39, 42 3R 45 3R There are four boxes between | and the box

Wt ol fb W%'&ﬁl which has 45 balls. More than four boxes are kept

Sl Y _above I. There are two boxes kept between G and
457 31 la?,wawﬁ&mw@ﬂ?%l the box which has 45 balls. The number of balls in

G.3ﬁ345 ﬂff?ﬂ@f T \ %maaﬁ'\qu box Ais a prime number. The box which has 42
gl WAQ@@WWGTWW%I balls is kept immediately above box B. The Box H

IS kept immediately above the box E which has 33
AT 3| fSsTH, ST E & b FURIMI®  balls. The box | have neither 25 balls nor 36 balls.

forgH 33.‘1%%1 ST 1Y U T dl 25 ﬁ%%aﬁv There are two boxes kept between A and C which

1A has 28 balls. The box C is kept immediately above
o 28 ¢ 51 fesamc ot %mmw G. The box D is not kept below the box A. The box

MRATHTEITT D does not have 25 balls. There are two boxes
%J %ﬁTﬁDﬁZSﬂ% Rl §lG GﬁT Fo diaQl kept between G and F which has 32 balls.

00 _
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Nine boxes A, B, C, D, E, F, G, H, and | are k
above one another but not necessarily in the same
order, Each of the boxes have differént number of
balls 1.e. 25, 28, 29, 32, 33, 36, 39, 42, and 45 and
are not necessarily in the same order.

There are four boxes between | and the box
which has 45 balls. More than four boxes are kept
above I. There are two boxes kept between G and
the box which has 45 balls. The number of balls in
box A is a prime number. The box which has 42
balls is kept immediately above box B. The Box H
IS kept immediately above the box E which has 33
balls. The box I have neither 25 balls nor 36 balls.
There are two boxes kept between A and C which
has 28 balls. The box C is kept immediately above
G. The box D is not kept below the box A. The box
D does not have 25 balls. There are two boxes
kept between G and F which has 32 balls.



http://www.mahendras.org/

SBI CLERK 2022 / /mEmat 11:30 AM/ “

53)Which of the following box

55) How many boxes are kept between B and

kept immediately above C?
the box which has 33 balls? B 3fiR 33 ﬂ?ﬁ ﬁ;lrsf%r@aﬁﬁaﬁq
g1 fessrc & i@
>

nﬁ?%nwﬁmﬁ%@@w% R T T 2
b)One g)):
c)Two =
d)Three C)

d)B

e)None of these e)None of these

54) How many balls are there in the box 1?
ST | H Tt 7ic 82

a)25

)42

)28

d)32

e)None of these
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56) If F is related to 42 and G is related to 45 in a certain way, then in the
same way E is related to which of the following?

gfe F, 42 9 A&t g 8fiR G, 45ﬁwﬁfﬁawﬁwﬁm% dr 3t
ToR E, Frafifad # 9 fead weafta 82

a)36

b)28

)39

d)29

e)None of these

57) Which one of the following combination is true?
frafefead & Q o4 91 J9ie 94 82

a)l -

b)C - 29

c)H - 36

d)F -35

e)B -25
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62) Statements: 60) Statements:
M=N>0O<P;Q<R<N>S 1<J>K<L:M>K=N<O
Conclusions:
). N<Q Conclusions:
1).M>Q N.J>0

I1). M>L

61) Statements:
X<Y=Z>A;U<V>Y=W

Conclusions:
). W>A

). A=W
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“School students are playing” is coded as “mj uv de xy”
“Some teachers are playing” is coded as “wx kl de xy”
“Students enjoying the holidays” is coded as “pg no uv gh”
“Teachers enjoying school days” is coded as “fj mj kl gh”
“School holidays are completed” is coded as “st mj de pg”

SBI CLERK 2022 / /mEmat 11:30 AM/ 0

63) What is the code for “Some” in the given coded language?
a)kl

b)de

C)WX

d)xy
e)None of these

64) What is the code for “Completed” in the given coded language?
a)rs

b)st

c)pq

d)fj

e)None of these
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N

“School students are playing” is coded as “mj uv de xy”
“Some teachers are playing” is coded as “wx kl de xy”
“Students enjoying the holidays” is coded as “pg no uv gh”
“Teachers enjoying school days” is coded as “fj mj kl gh”
“School holidays are completed” is coded as “st mj de pg”

67) What is the code for “Enjoying summer
holidays” in the given coded language?

a)gh de pg
b)kl pg gh
c)gh bj pg
d)gh pq fj
e)None of these

SBI CLERK 2022 / /mmat 11:30 AM/

65) Which of the following word represents
the code “pQg” in the given coded language?
a)Holidays

b)Students

c)Enjoying

d)Teachers

e)None of these

66) Which of the following word represents
the code “fj” in the given coded language?
a)are

b)School

c)Students

d)Days

e)None of these
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79) If it Is possible to make meaningful word with the second, fourth, fifth, sixth, ninth and tem-
letters of the word “IMPEACHMENT” Which would be the second letter of the word from the left
end? If more than one such word can be formed give X as the answer. If no such word can be
formed, give Y as your answer.

gf¢ qMeg "IMPEACHMENT" & g¥R, 91, Uidd, B, Ald 3R a9d &Rl A Ayl 2reg a9
HYT B o I8 DR A g BT AT &R DI °T 3?2 TS U T | 3ARIP Ueg a7 FHd & ol
S P EUH X 1 i THT D5 g T ST &I JHdl 8, dl SUAT IR Y S |

a)E

b)X

c)Y

d)A

e)N
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80) How many such pairs of letters are there in the word “ENCLAVE” which
has as many letters between them in the word as in alphabetical series

}eg “ENCLAVE” H 3{&RI & U fha oite & o da a1 gt sieR @
ﬁlﬁﬁ%wﬁaﬁﬁﬂwqﬁél
a)l
b)2
c)4
d)None
e)None of these
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M AfRI ), LN, PR V, X, Rz A aretufdqd  Eight persons J, L, N, P, R, V, X, and Z are

) ’ » Yo Py sittin In a nine seated row and one IS
a%%aﬁvw@?ﬁélwﬁmmg@waﬁam vacargt. All of them are facing north. Each

3:“?[' WGIFFT 3T HIT one of them works in different company i.e.
el 4 - 3Td Amatzon, Amazon, _Apple, Yahoo,Wink, Pin eed,

Apple, Yahoo, Wink, Ind, Google, Dapper 3R Adobe H Google, . Dapper, and Adobe but not

WW%WW@% Wﬁ'&ﬁl necessarily in the same order.
: - L sits fourth to the left of the one who works
L 39 AR & A MY RMA TR %\_’ﬁ%q?ﬁ in  Dapper and neither of them_ sits at

PTH HIAT ¢ 3R 370 4 Bis W sifad IR R ! extreme ends. The one who works in apple

: : sits immediate left of J, who works in
aaalagﬁﬁﬁaﬁwW%J%maﬁ Amazon. There are two persons sitting
JoTe, S SV H T Pt & | Req A SR fam  [hiieet, ‘@t ang {he,one o yrie 0
ﬁﬁwmﬁﬁ%qwamaﬁfgl X,N®  works in Wink. N doesn’t sit at any of the
IR r AT E AP AT TN e Gobe N ot s 2

R | immediate neighbour of L. The one who
B USITH BHBIATg | AT N R TSI X, L BT workshin Yahlgg_sité an Iimmr(]adigllte Ief'ttof_éthg:[
: ’ one who works in Google who does not sit a
ﬁmﬁq@ﬁ% Yahooﬁwwwm, any of the extremeg ends. P is not an
Google T BT B dTel AfGd P 31b a1 43T, Sl iImmediate neighbour of N. There are three
%\Eﬁlﬁéiﬁmiﬁ? aBT% ﬁﬁ‘ci’q ersons sit between V and Z, who works In
] W el . P, NPT I-d ndeed. Z sits left of V.
TSR T8 . v iR z S am fH R 93 &, < L T
qRd H P BATS. Z, VP a4 9315 L =00 -



http://www.mahendras.org/

SBI CLERK 2022 / /mEmat 11:30 AM/ 0

Eight persons J, L, N, P, R, V, X, and Z are
sitting in a nine seated row and one is
vacant. All of them are facing north. Each
one of them works in_different company i.e.
Amazon, Apple, Yahoo,Wink, — Indeed,
Google,  Dapper, and Adobe but not
necessarily in the same order.
L sits fourth to the left of the one who works
iIn  Dapper and neither of them_ sits at
extreme ends. The one who works in apple
sits immediate left of J, who works  in
Amazon. There are two persons sitting
between vacant and the one_who works In
Wink. X sits_ fourth to the right of N, who
works in  Wink. N doesn’t sit at any of the
extreme ends. The one who sits in thé middle
works in adobe. Neither N _nor X is an
iImmediate neighbour of L. The one who
works In Yahoo sits an immediate left of the
one who warks in Google who does not sit at
any of the extreme ends. P is not an
Immediate neighbour of N. There are three
ersons sit between V and Z, who works in
ndeed. Z sits left of V.
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70) How many persons are sitting between

J and N?ﬁﬁﬁﬂ%ﬁﬂﬁ%%ﬂ
3R N?

a)None

b)One

c)Two

d)Three

e)None of these

Indeed Yahoo Google Wink Adobe Dapper Vacant Apple amazon

68) Who sits to an immediate left of the one who works

in Google? Google H &1 H31 1d Afda &
3o TR FT BT R?

a)Z
L\
c)L
d)P
e)None of these

69) What is the position of the one who works in Apple with

respect to P? Pa?ﬂ"—({lfﬁ Apple H &1d B
qTel S BT VI T 32

a)Second to the left
b)Second to the right
c)Immediate left
d)Immediate right
e)None of these
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Indeed Yahoo Google Wink Adobe Dapper Vacant Apple amazon

71) Who among the following persons are the
immediate neighbours of vacant seat? fFrgferad #
q I @relt Hie &7 Hdead usiH 82

a)Jd and the one who works in Apple

b)P and the one who works in Google

¢)P and the one who works in Adobe

d)X and the one who works in Dapper

e)None of these

72) In which one of the following companies does R
works?

frafafed d 3 fod ot § R w1 Frar 82
a)Google

b)Indeed

c)Apple

d)Amazon

e)None of these


http://www.mahendras.org/

SBI CLERK 2022 / /mEmat 11:30 AM/ 0

73) How many pairs of letters are there in the word “SACRILEGIOUS” which has as many
Letters between them in the word as In alphabetical series?

“SACRlLEGmUS”ﬁa{&m%ﬁﬁmﬁw%ﬁmﬁmﬁéwﬁmaﬁaa&w
aw%avﬁawqﬁév

a)None

b)One

c)Two

d)Three

e)More than three
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74) The position of how many numbers will remain unchanged if each of the
numbers In the series “879235146” is arranged in ascending order?

"879235146" T A TS TBT DI AR 16! v H aafeyd foar
Grrqgj?ﬁ1 ot Temnsi of Rufa srafvafda et

a)None

b)One

c)Two

d)Three

e)More than three
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75) If it is possible to make it only one meaningful word from the third,
fourth, seventh and the last letter of the word ‘HACKNEYED?’, then the
last letter of the word is your answer. If no such word can be formed Z is
your answer and if more than one word can be formed Y is your answer.
gfe Tsg 'HACKNEYED' & oY, Y, ATdd 3R 3ifad 3iaR A 390
bad T JTdd WUeg T9IHT JUT B, dl Ueg BT ifeH 3M&R ATIHT IR
21 gfe 0T BI5 Weg AZ IHTIT ST Thdl g dl Z TYDT IR ¢ 3 afe
TS A 3 g T AP € ol Y SMTUDT SR B |

a)Z

b)Y

c)L

d)G

e)None of these
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Study the  following information carefully and answer the questions given below.

[Letter | K ------- A

Digit /
Symbol
code

) If the first and the last letters are vowels both are coded as the first letter code.
I1)If the first letter is vowel and the fourth letter is consonant both codes are interchanged.

[11)If the second letter is a consonant and the last letter is vowel both are coded as the last
letter code

76) What is the code for ‘Y NW P O’?
a) >>1#@’

b) ‘>31#>

C) ‘>>1#>

d>@1#@’

e) None of these
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Studythe following information carefully and answer the questions given below.

| Letter | ---- |V

Digit /
Symbol
code

DIf the first and the last letters are vowels both are coded as the first letter code.
[1)1f the first letter is vowel and the fourth letter is consonant both codes are interchanged.

[1D)If the second letter is a consonant and the last letter is vowel both are coded as the last letter code

77) What is the code for AM | KV’?
a) ‘T28*9

b) *82TY

C) *28T9

d)‘T2*98

e) None of these
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Studythe following information carefully and answer the questions given below.

| Letter | ---- |V

Digit /
Symbol
code

DIf the first and the last letters are vowels both are coded as the first letter code.
[1)1f the first letter is vowel and the fourth letter is consonant both codes are interchanged.

[1D)If the second letter is a consonant and the last letter is vowel both are coded as the last letter code

78) What is the code for ‘E1 PAO’?
a) ‘68#T6’

b)’68#T @’

C)'1@#TE’

d‘@8#@ %

e) None of these
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Studythe following information carefully and answer the questions given below.

 Letter | ---- |V

Digit /
Symbol
code

DIf the first and the last letters are vowels both are coded as the first letter code.
[1)1f the first letter is vowel and the fourth letter is consonant both codes are interchanged.

[1D)If the second letter is a consonant and the last letter is vowel both are coded as the last letter code

79) What is the code for ‘AN H O S*?
a)‘43<@T

by @3<@T’

c)T3I<@T

d)‘T3I<@4’

e) None of these
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Studythe following information carefully and answer the questions given below.

 Letter | ---- |V

Digit /
Symbol
code

DIf the first and the last letters are vowels both are coded as the first letter code.
[1)1f the first letter is vowel and the fourth letter is consonant both codes are interchanged.

[1D)If the second letter is a consonant and the last letter is vowel both are coded as the last letter code

80) What is the code for ‘Q MW K I’?
a)‘721*8

b) 781*8

C)‘718*8

d)712*8

e) None of these
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Eight persons Sushi, Suha, Srini, Suthir, Shaurya, Sam, Sugi and Subi are living in eight different
floors of the building such that lowermost floor is numbered as 1 and the floor above 1 is numbered
as 2and so on, and the topmost floor is numbered as 8. All the above information is not necessarily in
the same order.

Suha lives in 5th floor. Two persons lives between Suha and Subi. Shaurya lives just above Sushi.
Two persons lives between Sushi and Sam. Sam lives in even number floor above Suha. Number of
persons lives above Suthir is as same as number of persons lives below Sugi. Srini lives above Sugi.

373 safeT gRIt, e, i, GRR, =N, 99, A 3z gt SHRT & 316 SIeT-3Ia T Hividl § 59
REA@ I & b Jad o7 D H&AT 1 8 3R 1 A HUR D HioTd $1 =012 § 3R
e U SHUR 1 HISTet 8 & U | spHifbd fod 11 7 | SR At ST RI U 51 4

Hivra 3R gl & g 1 aafad | 2 Rt & St
ngr%%aﬁ ?gwg%awmwﬁgwﬁw ww?g.%mm%a';
SrCa |

® HforeT
YEdl 21 SUASLAAL i =00 i
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Eight persons Sushi, Suha, Srini, Suthir,
Shaurya, Sam, Sugi and Subi are living In eight
different floors of the building such that
lowermost floor is numbered as 1 and the floor
above 1 Is numbered as 2and so on, and the
topmost floor i1s numbered as 8. All the above
Information Is not necessarily in the same order.

Suha lives in 5th floor. Two persons lives between
Suha and Subi. Shaurya lives just above Sushi.
Two persons lives between Sushi and Sam. Sam
lives in even number floor above Suha. Number
of persons lives above Suthir i1s as same as
number of persons lives below Sugi. Srini lives
above Sugi.
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48.How many persons lives between Srini and 46.Who lives immediately above Subi?
Subi? sifer 3 g & i Rraa =afea g & 8F FW FlT T &7
Ed 872 a) Shaurya

ay One b) Sushi

b) TwO ¢ Suha

¢ Three d) Sam

d) Four e) None of these

e) None of these Floors | Persons

8 |suthir

e) None of these
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5 Jswwr |
© Jsm

o [shauma

49.Which of the following is correct? fae& & & *la &1 TWE &7

50.What is the floor number of Sugi and Suthir respectively?
Fwae: gt 3R R fr Afae wear w4 82

a)
b)

c)
d)
e)

Sam lives on 1st Floor

Suha L.ives two floor above Shaurya

Srini lives just above Suthir

Only |

Only I and 11
Only 111

Only Il and 11

None of the statement is correct

Six and Seven
One and Eight

even and Six
Four and Eight
None of these
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